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Theorem: Each diagonal of a rhombus \0 = + two angles of the rhombus.
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Theorem: If one diagonal of a I! gram bisects two angles, then itis a ' \{\ OM \OU

Theorem: The diagonals of a rhombus are

Theorem: If the dlagonals ofa ||-gram are perpendicular thenitis a T \{\O (]\f\k@U S

Example 1: v LConSec Ls 18 f’\
MNPQisa rhombus and £Q=120°. Find the measure of the numbered angles.
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Theorem: If the diagonals of aﬂf_,’i;" are congruent, then itisa (£ 4 JV\ﬁ g (G
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Theorem: The diagonals of a rectangle are —

Summary:
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Example 3:
Find the length of the diagonals of rectangle GFED if FD = 2y + 4 and GE = 6y - 5.
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Example 4:
Determine whether the quadrilateral can be a parallelogram. If so, classify the parallelogram.
a) The quadrilateral has congruent diagonals and one angle of 602. 1\—)
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b) The quadrilateral has perpendicular diagonals and four right angles.
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